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Question Number : 1 Question Id : 68019112421 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Lecithin is an example of which type of biomolecule?

. Nucleotides

. Phospholipids

. Proteins

4. Polysaccharides

| S

Taa

Options :

68019149001. 1
68019149002. 2
68019149003. 3

68019149004. 4

Question Number : 1 Question Id : 68019112421 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

gcollegedunias

Correct Marks : 4 Wrong Marks : 1 S

Instruction Time: 0
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Options :
68019149001. 1
68019149002. 2
68019149003. 3
68019149004. 4

Question Number : 2 Question Id : 68019112422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following 18 NOT part of Forebrain?

1. Cerebrum

2. Hypothalamus
. Cerebellum

4. Thalamus

Taa

Options:

68019149005. 1
68019149006. 2
68019149007. 3

68019149008. 4

Question Number : 2 Question Id : 68019112422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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2. SR UIUTHY

3. 3URETSD
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Options :
68019149005. 1
68019149006. 2
68019149007. 3

68019149008. 4

Question Number : 3 Question Id : 68019112423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List-T with List-II

LISTI LISTII
(cell/tissue/organs) (System)
A :\"E'ESOI’ChiuII-l I. |Eeproductive system
B. |Uriniferous tubules| II. |Vascular system
C. |Endocrine glands | III. |Chemical coordination
D |Sinus venosus IV, |Excretory sytstem

Choose the correct answer from the options given below:

(A) - (). (B) - (IV). (C) - (III). (D) - (II)
. (A) - (III). (B) - (II). (C) - (I). (D) - (IV)
. (A) - (). (B) - (I). (C) - (II). (D) - (IV)
4. (A) - (II). (B) - (AV). (C) - (I). (D) - (II)

|

a2

Options :

680191490009. 1
68019149010. 2
68019149011. 3

68019149012. 4

, , , gcollegedunias
Question Number : 3 Question Id : 68019112423 Question Type : MC( -



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (). (B) - (IV). (C) - (III). (D) - (II)
2. (A) - (I). (B) - (II). (C) - (D). (D) - (IV)
3. (A) - (III). (B) - (I). (C) - (II). (D) - (IV)
4. (A) - (). (B) - (AV). (C) - (I). (D) - (II)

Options:

680191490009. 1
68019149010. 2
68019149011. 3
68019149012. 4

Question Number : 4 Question Id : 68019112424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Cranial meninges include

(A). Dura mater

(B). Arachnoid

(C). Neurotransmitters

(D). Pia mater

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A) and (D) only.
3. (A), (B). (C) and (D).

4. (A). (C) and (D) only. .
collegedunia:

Options :
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68019149013. 1
68019149014. 2
68019149015. 3

68019149016. 4

Question Number : 4 Question Id : 68019112424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. %ad (A). (B) 3R (D)
2. %ad (A) AR (D)

3. (A). (B). (C) 3R (D)
4.%ad (A), (C) 3R (D)

Options :

68019149013. 1
68019149014. 2
68019149015. 3

68019149016. 4

Question Number : 5 Question Id : 68019112425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Sequence of regions of vertebral column, starting from skull 13
(A). Thoracic

(B). Cervical

(C). Sacral

(D). Lumbar

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (B). (A). (D). (C).
3.(B). (A). (C). (D).
4.(C). (B). (D). (A).

Options :

68019149017. 1
68019149018. 2
68019149019. 3
68019149020. 4

Question Number : 5 Question Id : 68019112425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (A). (B). (C). (D)
2. (B). (A). (D). (C)
3.(B). (A). (). (D)
4.(C). (B). (D). (A)

Options :

68019149017. 1
68019149018. 2
68019149019. 3

68019149020. 4

gcollegedunias
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Question Number : 6 Question Id : 68019112426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Colostrimy igan example of .oancnaiinas

1. Active immunity
2. Antigen

3. Pagsive immunity
4. Cancer

Options:

68019149021. 1
68019149022. 2
68019149023. 3
68019149024. 4

Question Number : 6 Question Id : 68019112426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
BIALH oo EARCARCAR

4, HE
Options :

68019149021. 1
68019149022. 2
68019149023. 3

68019149024. 4

Question Number : 7 Question Id : 68019112427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Thi .
collegedunia:

Instruction Time : 0
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Correct Marks : 4 Wrong Marks : 1

What 1s the role of Sertolli cells in reproductive system?

1. Synthesis of androgens

2. Secretion of androgens

3. To provide nutrition to germ cells
4. Release antibodies

Options :

68019149025. 1
68019149026. 2
68019149027. 3

68019149028. 4

Question Number : 7 Question Id : 68019112427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019149025. 1
68019149026. 2
68019149027. 3
68019149028. 4

Question Number : 8 Question Id : 68019112428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Match List-I with List-II

LIST-I LIST-II
(Structure) ( Associated with organ))
A |Fimbrnae [. |Spermatozoa i
B. |Seminiferous tubules| II. |Testes
C. |Acrosome IIL. |Ovary
D. |Graafian follicle IV |Oviduct

Choose the correct answer from the options given below:

1. (A) - AV). (B) - (I). (C) - (I). (D) - (III)
2. (A) - (IV). (B) - (ITT). (C) - (IT). (D) - (I)
3.(A) - (D). (B) - (I). (C) - (II). (D) - (IV)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (I)

Options :

68019149029. 1
68019149030. 2
68019149031. 3
68019149032. 4

Question Number : 8 Question Id : 68019112428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (IV). (B) - (II). (C) - (I). (D) - (III)

. (A) - (IV). (B) - (III). (C) - (II). (D) - (I)
3.(A) - (T). (B) - (IT). (C) - (). (D) - (IV)

4. (A) - (III), (B) - {IV). (C) - (D). (D) - (1)
Options : gcollegedunias

~
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68019149029. 1
68019149030. 2
68019149031. 3

68019149032. 4

Question Number : 9 Question Id : 68019112429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ESTs stands Tor .....co.viami

1. Extra Sequence Tags

2. External Sequence Tags

. Expressed Sequence Transcripts
4. Expressed Sequence Tags

s

Options :

68019149033. 1
68019149034. 2
68019149035. 3

68019149036. 4

Question Number : 9 Question Id : 68019112429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
LUl Bl 39 &:
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Options :
68019149033. 1

68019149034. 2 gcollegedunias

68019149035. 3 -



68019149036. 4

Question Number : 10 Question Id : 68019112430 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct order of steps in the process of recombinant DNA Technology are:
A. Digestion by restriction enzyme

B. Transformation

C. Ligation

D. Isolation of DNA

. (D). (C). (B). (A).
.(A). (O). (B). (D).
.(D). (A). (C). (B).
.(A). (D). (). (B).

faa a3 —

=

Options :

68019149037. 1
68019149038. 2
68019149039. 3

68019149040. 4

Question Number : 10 Question Id : 68019112430 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(D). (C). (B). (A).

.(A). (C). (B). (D).

(D). (A). (C). (B).
. (A), (D), (C), (B).

Options : .
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68019149037. 1 s

fas b2 —

=y



68019149038. 2
68019149039. 3

68019149040. 4

Question Number : 11 Question Id : 68019112431 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Large holes m "Swiss Cheese" are due to the prodcution of large amounts of carbon dioxide gas
by bacterium

1. Lactobacillus bulgaricus

2. Propionibacterium sharmanii
3. Staphylococeus aureus

4. Bifidobacterium jejuni

Options :

68019149041. 1
68019149042. 2
68019149043. 3

68019149044. 4

Question Number : 11 Question Id : 68019112431 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019149041. 1

68019149042. 2 gcollegedunias
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68019149043. 3
68019149044. 4

Question Number : 12 Question Id : 68019112432 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Identify which one 18 NOT a Sexually Transmitted Infection (STI).

1. Leishmaniasis
2. Syphulis

. Chlamydiasis
4. Gonorrhoea

Taa

Options:

68019149045. 1
68019149046. 2
68019149047. 3

68019149048. 4

Question Number : 12 Question Id : 68019112432 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. SR
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3.

4. TR
Options :

68019149045. 1
68019149046. 2
68019149047. 3

68019149048. 4 ,
collegedunia:
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Question Number : 13 Question Id : 68019112433 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Carolus Linnaeus 1s credited for

1. Oxidative Phosphorylation
2. Biomial Nomeclature

3. Photoperiodism

4. Cryopreservation

Options :

68019149049. 1
68019149050. 2
68019149051. 3

68019149052. 4

Question Number : 13 Question Id : 68019112433 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019149049. 1
68019149050. 2
68019149051. 3
68019149052. 4

Question Number : 14 Question Id : 68019112434 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A 1 .
collegedunia:
Minimum Instruction Time : 0 s



Correct Marks : 4 Wrong Marks : 1

Which of the following are NOT examples of brown algae?
(A). Laminaria

(B). Ectocarpus

(C). Volvox

(D).Porphyra

Choose the correct answer from the options given below:

. (C) and (D) only.

. (A) only.

.(B). (C) and (D) only:.
. (B) and (C) only.

|

e Laa

Options :

68019149053. 1
68019149054. 2
68019149055. 3

68019149056. 4

Question Number : 14 Question Id : 68019112434 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. %ad (C) 3R (D)

2. %44 (A)

3.%dd (B). (C) 3R (D)
4. %ad (B) AR (C)

Options :

68019149053. 1

68019149054, 2

68019149055. 3

68019149056. 4 @collegedunias
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Question Number : 15 Question Id : 68019112435 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s an example of Sporozoan Protozoa?

1. Entamoeba

2. Trypanosoma
3. Paramaecium
4. Plasmodium

Options :

68019149057. 1
68019149058. 2
68019149059. 3

68019149060. 4

Question Number : 15 Question Id : 68019112435 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad & 9 o 91 WRISIsE UIeels & U6 358 82
1. Gesfa
2. SIEUSRIET
3. Wit
4. Wregegy

Options :

68019149057. 1
68019149058. 2
68019149059. 3

68019149060. 4

Question Number : 16 Question Id : 68019112436 Question Type : M( .
collegedunia:
Is Question Mandatory : No Calculator : None Response Time: N.AT



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct order of taxonomical categories in descending order:
(A). Genus

(B). Order

(C). Phylum

(D). Class

Choose the correct answer from the options given below:

1. (A). (C). (B). (D).
2.(C). (B). (D). (A).
3. (B). (D). (C). (A).
4. (C). (D). (B). (A).

Options :

68019149061. 1
68019149062. 2
68019149063. 3

68019149064. 4

Question Number : 16 Question Id : 68019112436 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SaRIE o H afifeta A % wd w1 31 9T
(A) T

(B) 101
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1. (A). (C). (B). (D).
2. (C). (B). (D). (A).
3.(B). (D). (C). (A).
4.(C). (D). (B). (A).

Options:
68019149061. 1
68019149062. 2

68019149063 3 gcollegedunias

68019149064. 4 N



Question Number : 17 Question Id : 68019112437 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the non-endospermous seeds.

(A). Castor

(B). Pea

(C). Gram

(D). Bean

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
.(B). (C) and (D) only.
4, (A). (B). (C) and (D).

L]

Options:

68019149065. 1
68019149066. 2
68019149067. 3
68019149068. 4

Question Number : 17 Question Id : 68019112437 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR-YOTIST dftoil &1 ggar &1 |
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- f3U T fasedl & O el SR IH|
1. %ad (A), (B) 3R (D)
2.%ad (A), (B) 3R (C)
3.%dd (B), (C) AR (D)

4. (A). (B). (C) 3R (D)

Options : gcollegedunias
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68019149066. 2
68019149067. 3

68019149068. 4

Question Number : 18 Question Id : 68019112438 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Conjoint. open vascular bundles are found in

1. Monocot stem
2. Dicot stem
. Monocot root
4. Dicot root

L]

Options :

68019149069. 1
68019149070. 2
68019149071. 3

68019149072. 4

Question Number : 18 Question Id : 68019112438 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Options:
68019149069. 1
68019149070. 2

68019149071. 3 :
collegedunia:

68019149072. 4 =



Question Number : 19 Question Id : 68019112439 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which type of chromosome. the centromere s located slightly away from the middle?

1. Metacentric chromosome
2. Sub-metacentric chromosome
3. Acrocentric chromosome
4, Telocentric chromosome

Options :

68019149073. 1
68019149074. 2
68019149075. 3

68019149076. 4

Question Number : 19 Question Id : 68019112439 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019149073. 1
68019149074. 2
68019149075. 3

68019149076. 4

Question Number : 20 Question Id : 68019112440 Question Type : M( gcollegedunias

Is Question Mandatory : No Calculator : None Response Time: N.AT -



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the percentage of Photosynthetically Active Radiation (PAR) captured by plants?
1. 100%
2. 70-80%

. 40-50%

4.2-10%

Options :

b

68019149077. 1
68019149078. 2
68019149079. 3
68019149080. 4

Question Number : 20 Question Id : 68019112440 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

et GRT 7501 U o aTel woeTe Sty gisha fafemo (df v o) s ufemd s giar 22

1. 100%
2. 70-80%
3.40-50%
4. 2-10%

Options:

68019149077. 1
68019149078. 2
68019149079. 3
68019149080. 4

Question Number : 21 Question Id : 68019112441 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gcollegedunias
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Which of the following 1s NOT a type of ex-situ conservation method?

1. Cryopreservation

2. Botanical gardens

. In-vitro fertilization
4. National parks

L]

Options :

68019149081. 1
68019149082. 2
68019149083. 3

68019149084. 4

Question Number : 21 Question Id : 68019112441 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafciEd o 9 & 1H 3 U SR 31 vawdic (RUHeTE) &l afy 781 82
1. FEa aizem

2. gFYidd 39

3. O HuE
4. PG I

Options:

68019149081. 1
68019149082. 2
68019149083. 3
68019149084. 4

Question Number : 22 Question Id : 68019112442 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



The World Summit on Sustainable Development held 1n 2002 was orgamised at

1. Rio de Janeirio
2. Johannesburg

. Montreal

4. Los Angles

L]

Options :

68019149085. 1
68019149086. 2
68019149087. 3

68019149088. 4

Question Number : 22 Question Id : 68019112442 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

2002 H gad faemrg W fay RReT gad &1 H1aieH Sal [l 11 412

1. foar S oafean
2. Sigr=aa

3. Agaa

4. AN TfoTeg
Options :
68019149085. 1
68019149086. 2
68019149087. 3

68019149088. 4

Question Number : 23 Question Id : 68019112443 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List-I with List-II

LISTI LISTII
[(Plant growth regulator) (Function)
A A;x_{ns i I |Stress hormone
B. |Gibberellins II. |Parthenocarpy in tomatoes
C. |Cytokinins III. |'Bolting' in a rosette plant
D. |Abscisic acad IV. |Delay leaf senescence

Choose the correct answer from the options given below:

1. (A) - (D). (B) - (I). (C) - (III). (D) - (IV)
2. (A) - (IT). (B) - (II). (C) - (IV). (D) - (I)
3.(A) - (D). (B) - (). (C) - (IV). (D) - (II)
4.(A) - (IV). (B) - (I1T). (C) - (I). (D) - (I)

Options :

68019149089. 1
68019149090. 2
68019149091. 3
68019149092. 4

Question Number : 23 Question Id : 68019112443 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-1 SR GI-11 D1 GAfed B

| -1
A |3ifEET I |g9ma g
B. |foaRfeH 11 [cAreX | Ay mHe
C. |[rsdieRia | @ Tete 1Y § IapeT
D. |ufcafas ufirs| v | oof Sl

A feu e fosed B 9 981 S I |
1.(A) - (II). (B) - (I). (C) - (III}. (D) - (IV)

. (A) - (D). (B) - (ITT). (C) - (IV). (D) - (I)
3. (A) - (). (B) - (IIT). (C) - (IV). (D) - (IT)

4. (A) - (IV). (B) - (III). (C) - (). (D) - (1)
Options : gcollegedunias

~




68019149089. 1
68019149090. 2
68019149091. 3

68019149092. 4

Question Number : 24 Question Id : 68019112444 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The path of transfer of electrons involves the following order in Z scheme
(A). PS-I

(B). PS-II

(C). ETS

(D).NADP™

Choose the correct answer from the options given below:

.(A). (B). (C). (D).
_(A). (C). (B). (D).
.(B). (C). (A). (D).
.(B). (A). (D). (C).

fag d =

ey

Options :

68019149093. 1
68019149094. 2
68019149095. 3
68019149096. 4

Question Number : 24 Question Id : 68019112444 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



ST & RIFIARU & 94 § z Oieq1 J Fafafed sa wiia g
(A). PS-I

(B). PS-II

(C). ETS

(D).NADP™

e feu v fae el o 9 gel 3w I

_(A). (B). (C). (D).
. (A). (O). (B). (D).
.(B). (C). (A). (D).
.(B). (A). (D). (C).

I =

F

Options :

68019149093. 1
68019149094. 2
68019149095. 3

68019149096. 4

Question Number : 25 Question Id : 68019112445 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Henri Bacqueral discovered this phenomenon...

1. Radioactivity
2. Fluoresence

. Photoelectric effect
4. Spectroscopy

s

Options :

68019149097. 1
68019149098. 2
68019149099. 3
68019149100. 4

Question Number : 25 Question Id : 68019112445 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 .
collegedunia:
Correct Marks : 4 Wrong Marks : 1 -



BRI 9pRd - 59 GRgeHl B @il D |

Options :

68019149097. 1
68019149098. 2
68019149099. 3
68019149100. 4

Question Number : 26 Question Id : 68019112446 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following according to their increasing size.
(A). Mg

(B). Al

(C). Mg?™

(D). AT

Choose the correct answer from the options given below:

1. (D). (B). (C). (A).
2. (A), (C). (B). (D).
. (D). (B). (A). (C).
(D). (C). (B). (A).

e s

Options :

68019149101. 1
68019149102. 2
68019149103. 3
68019149104. 4

Question Number : 26 Question Id : 68019112446 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A 1
Minimum Instruction Time : 0 gcollegedunias

~



Correct Marks : 4 Wrong Marks : 1

[afeRad ®1 3% gd Wge/SHY & IR Taied B |
(A). Mg

(B). Al

(C). Mg~

(D). AP*™

-9 feu e fd el O 9§ 981 ST I |

1. (D). (B). (C). (A).
2. (A), (C). (B). (D).
(D). (B). (A). (C).
.(D). (C). (B). (A).

e Taa

Options :

68019149101. 1
68019149102. 2
68019149103. 3

68019149104. 4

Question Number : 27 Question Id : 68019112447 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
VSEPR theory stands for

1. Vacant Shell Electron Pair Repulsion Theory

2. Valence Shell Electron pair Retention Theory
. Valence Shell Electron Pair Repulsion Theory
4. Vacant Shell Electron pair Resonance Theory

L]

Options :

68019149105. 1
68019149106. 2
68019149107. 3

68019149108. 4

Question Number : 27 Question Id : 68019112447 Question Type : M( ™ Nntinn Chufflina - R
Is Question Mandatory : No Calculator : None Response Time : N.A 1 collegeduniag

Minimum Instruction Time : 0 =



Correct Marks : 4 Wrong Marks : 1

@ 9.3 b R Rgid Y ug amEm ©

1. ddbe d sadeHYsR RueRHE Rigid
2. 9019 el gafael UsR RewH figid
3. 909 U saaeH UeR RyewH gid
4. ddbe Qe salgei- USR Yui-g Rigid

Options :

68019149105. 1
68019149106. 2
68019149107. 3

68019149108. 4

Question Number : 28 Question Id : 68019112448 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the disaccharides molecule from the following.

1. Ribose

2. Fructose

. Lactose
4, Galactose

Taa

Options :

680191491009. 1
68019149110. 2
68019149111. 3

68019149112. 4

Question Number : 28 Question Id : 68019112448 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Frafafad ¥ 9 SigaaRissy U] &l 994 HY|
| wsd
: il
;. de
4. eI
Options :
68019149109 1
68019149110. 2
68019149111, 3

68019149112. 4

Question Number : 29 Question Id : 68019112449 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The element that does not belong to actinoids is

(A). Mg

(B). Th

(C). T

(D). Ba

Choose the eorreet answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (C) and (D) only,
. (A) and (D) only.
. (B) and (C) only.

e g

Options :

68019149113. 1
68019149114. 2
68019149115.3

68019149116. 4

Question Number : 29 Question Id : 68019112449 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0 .
gcollegedumas
Correct Marks : 4 Wrong Marks : 1 =



98 ad ol Uldeig e § Iefid e 2
(A). Mg

(B). Th

(C).U

(D). Ba

A feu e fosedl § 9 98l SuR I |

1. dd (A), (B) 3R (D)
2.®Had (A). (C) 3R (D)
3.%ad (A) 3R (D)
4.%dd (B) 3R (C)

Options :

68019149113. 1
68019149114. 2
68019149115. 3

68019149116. 4

Question Number : 30 Question Id : 68019112450 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List-I with List-11

LISTI LISTII
Halogens I. |Ne
Noble gases II. |Ce
Chalcogens I |S
Lanthanoids IV |Br

ofo[w]w

Choose the correct answer from the options given below:

1. (A) - (V). (B) - (III). (C) - (II). (D) - (I)
2.(A) - (IV). (B) - (D). (C) - (IIT). (D) - (I)
3.(A)-(IV). (B) - (D). (C) - (). (D) - (I1T)
4. (A) - (IT). (B) - (IV). (C) - (ITI). (D) - (I)

Options:
68019149117. 1
68019149118. 2

68019149119, 3 gcollegedunias

68019149120. 4 b



Question Number : 30 Question Id : 68019112450 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HEI-1 B Ty -1 BT e B

T 1 T I
%T’ht‘rﬂ I |Ne
e T4 I [Ce
dledla-g  |IL[S
dUdgeg |1V |Br
- feu U g el O 9 9ol S I |

. (A) - (IV). (B) - (III). (C) - (II). (D) - (I)
(A) - (IV). (B) - (I). (C) - (III). (D) - (II)
. (A) - (IV). (B) - (I). (C) - (). (D) - (I1I)
- (A) - (D). (B) - (IV). (C) - (II). (D) - (I)

olalw|>

fag Bd —

=

Options :

68019149117. 1
68019149118. 2
68019149119.3

68019149120. 4

Question Number : 31 Question Id : 68019112451 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s an intensive property?

1. Volume
2. Mass

. Enthalpy

4. Molar volume

L]

Options :

68019149121. 1 ,
collegedunia:

68019149122. 2 s



68019149123. 3

68019149124. 4

Question Number : 31 Question Id : 68019112451 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafad ¥ 9 &1 U 181 U g

1. SdA

2. qoJHIq

3.@??[

4. Hidd Ad-
Options :

68019149121. 1
68019149122. 2
68019149123. 3

68019149124. 4

Question Number : 32 Question Id : 68019112452 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the oxidation number of O in OF,

Lo =
I
[ ]

Tad
i
o

4.-1
Options :

68019149125. 1
68019149126. 2

68019149127. 3

68019149128. 4 :
gcollegedumas

~



Question Number : 32 Question Id : 68019112452 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
OF, H 0 &1 S{laHieh il 401 o1 3

B
2. +)

-

4. -1
Options :

L]

68019149125. 1
68019149126. 2
68019149127. 3
68019149128. 4

Question Number : 33 Question Id : 68019112453 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Protium. Deuterium and Tritivin are

. Isobars

. Isotopes

. Isomers

4. Enantiomers

|

L]

Options :

68019149129. 1
68019149130. 2
68019149131.3

68019149132. 4

Question Number : 33 Question Id : 68019112453 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A1
Minimum Instruction Time : 0 gcollegedumas

~



Correct Marks : 4 Wrong Marks : 1

1. OHR

2. gORIHd

3. gqagd

4. Ufdfsrs ¥l wHGUqd
Options:
68019149129. 1
68019149130. 2
68019149131. 3
68019149132. 4

Question Number : 34 Question Id : 68019112454 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List-T with List-II

LISTI LISTII
Solvay process I. |Halogens
Kjeldahl's method II. |Nitrogen

Castner-Kellner process| I11. |Sodium carbonate

ofa[w[w

Carius method IV, |Sodium hyvdroxide

Choose the correct answer from the options given below:

(A) - (I). (B) - (ID). (C) - (III). (D) - (IV)
. (A) - (IIT). (B) - (I). (C) - (II). (D) - (IV)
. (A) - (IIT). (B) - (II). (C) - (IV). (D) - (I)
4. (A) - (IIT). (B) - (II). (C) - (I). (D) - (IV)

fag B2 —

Options :

68019149133. 1
68019149134. 2
68019149135. 3

68019149136. 4

gcollegedunias

Question Number : 34 Question Id : 68019112454 Question Type : MLy Upuun snuINyY : NV



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GAt-1 & 1Y A1 1 e 3L

A1 g1
gied gisa 18 ESISE]

iesTd fafy 1 [[rgeeH
DRER-BoR Uk 1L |GifEar sEie
By fafd V. |gif$ad gEslaaEs

=i feu U fd@ el O 9 96l S I |

(A) - (I). (B) - (ID). (C) - (III). (D) - (IV)
. (A) - (III). (B) - (I). (C) - (II). (D) - (IV)
. (A) - (IIT). (B) - (II). (C) - (IV). (D) - (I)
4. (A) - (II). (B) - (II). (C) - (I). (D) - (IV)

RIEE

fag B2 —

Options :

68019149133. 1
68019149134. 2
68019149135. 3

68019149136. 4

Question Number : 35 Question Id : 68019112455 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Caustic soda 13

1. Sodium carbonate

2. Sodium hydroxide

. Sodium chloride

4. Sodium hydrogencarbonate

L]

Options:
68019149137. 1
68019149138. 2

68019149139. 3 gcollegedunias

68019149140. 4 N



Question Number : 35 Question Id : 68019112455 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
PIECH ISl &-

1. difsgq ®EHe

2. HIfsgn grgsiag s

3. gifsgyg wIRISS

4. Tifsga eIESIa ®Ei-e

Options :

68019149137. 1
68019149138. 2
68019149139. 3

68019149140. 4

Question Number : 36 Question Id : 68019112456 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following as per the increase in atomic number,
(A). Carbon

(B). Tin

(C). Lead

(D). Silicon

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (A), (D), (C). (B).
.(A). (D). (B). (C).
.(C). (B). (A). (D).

e s

Options:
68019149141. 1
68019149142. 2

68019149143, 3 :
collegedunia:
68019149144, 4 -



Question Number : 36 Question Id : 68019112456 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafeiad o w=amn] ¥= § gl & 3 9R Hafyd o1
(A) BT

®) fe

(C) oS

(D) FfareT

e feu e faeedl o 9 gel 3w 1

1. (A). (B). (C). (D).
2. (A). (D). (C). (B).
3. (A), (D), (B). (C).
4. (C). (B). (A). (D).

Options :

68019149141. 1
68019149142. 2
68019149143. 3

68019149144. 4

Question Number : 37 Question Id : 68019112457 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List-T with List-II

LIST1I LIST I1
A |Ranitidine I. |Antibiotic
B. |Norethindrone | II. |Analgesic
C. |Aspuin ITI. |Antacid
D. |Ofloxacin IV, |Antifertility

Choose the correct answer from the options given below:

1. (A) - ID). (B) - (IV). (C) - (ID). (D) - (I)

(&) - (). B) - (1). (C) - (I). (D) - (IV) g :
3. (A) - (D). (B) - (I1). (C) - IV). (D) - (III) collegedunia:
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (1I) N



Options :

68019149145. 1
68019149146. 2
68019149147.3

68019149148. 4

Question Number : 37 Question Id : 68019112457 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g1 SR I PT T &

A1 11
s I MGEICE
IS 1. [fieed

ol

e 0l PGS
AT | 1V, [ufd sHaem

- feu e fosedl & 9§ 95l SR A |

(A) - (TIIT). (B) - (IV). (C) - (I). (D) - (I)
(A) - (III). (B) - (I). (C) - (II). (D) - (IV)
(A)-(I). (B) - (IT). (C) - (IV). (D) - (III)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

P IREIE

g b —

Options:

68019149145. 1
68019149146. 2
68019149147.3
68019149148. 4

Question Number : 38 Question Id : 68019112458 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
collegedunia:

~



HTTP stands for

. High Text Transfer Problem

. Hyper Technology Transfer Process
. Hyper Text Transfer Protocol

4. Hyper Technology Transfer Protocol

b =

L]

Options :

68019149149. 1
68019149150. 2
68019149151. 3

68019149152. 4

Question Number : 38 Question Id : 68019112458 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T HT R A §

1. §T5 ¢ PR WisiH

2. BISUR CaHTaloll g% TR
3. BIEUR CoRE TR HICidId

4. TIEW oAl S W WDl

Options :

68019149149. 1
68019149150. 2
68019149151. 3

68019149152. 4

Question Number : 39 Question Id : 68019112459 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Which of the following statement(s) 1s/are TRUE for database?

(A). Database 1s a collection of logically related data.

(B). DBMS is a specialised software that is responsible for the creation. mamtenance and use of
a database.

(C). RDBMS stores the data centrally in the form of a collection of tables known as relations.
(D). SQL 15 a database that stores the data in tabular form.

Choose the correct answer from the options given below:

). (B) and (D) only.

1.(A). (B)
3.(A) (B) and (C) only.
3.(A), (B).
4.(B). (C)

). (B). (C) and (D).
and (D) only.
Options :
68019149153. 1
68019149154. 2
68019149155. 3

68019149156. 4

Question Number : 39 Question Id : 68019112459 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Fefafad § ¥ oF U Uy Saeg & AU T8l 8/8?

(A) SCeF e =0 3 Fafid Se1 51 Us S9g &

B)?ﬁ.a‘%uﬂ T, U5 fI99 T0edeR § o Seray & A, T\EME 3R J94 & fau
R B

(C) 3R, 8. 1. U, T8, ST &I $E10 &9 J 2901 & GUE & =0 H TUeid Pl & ford
RATE & FUH T A1 8

(D) UH. 7, U4, U Sclad g ofl 5el B! IRUIES &9 H §Ugid F=dl o

< feu e fosedi & § 961 SR |

1. Had (A), (B)a?mn
2.%ad (A), (B) 3R (C

3.(A). (B). (C) aﬁ?m
4,994 (B). (C) 3R (D)

Options :

68019149153. 1

68019149154, 2
68019149155. 3 gcollegedumas

~



68019149156. 4

Question Number : 40 Question Id : 68019112460 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s an example of Application Software?

1. Android

2. Unix

3. Disk Defragmenter
4. MS-Office

Options :

68019149157. 1
68019149158. 2
68019149159. 3

68019149160. 4

Question Number : 40 Question Id : 68019112460 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafead 5 O & 91 UEi$RH 9iaedds &l Uh 331630 67

1. UgITs

2. gf-ag |
3. foh SR
4. THUY-3IHY

Options :

68019149157. 1
68019149158. 2
68019149159. 3

68019149160. 4

gcollegedunias

Question Number : 41 Question Id : 68019112461 Question Type :MCy CIPI.IUII SHUITIINY . 1INV



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In MS-Word. Portrait and Landscape are

1. Page Orientation
2. Page Scale

3. Paper Size

4. Page Margin

Options :

68019149161. 1
68019149162. 2
68019149163. 3

68019149164. 4

Question Number : 41 Question Id : 68019112461 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2. U e
3. U IS
4. O T1fota

Options :

68019149161. 1
68019149162. 2
68019149163. 3
68019149164. 4

Question Number : 42 Question Id : 68019112462 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0 .
collegedunia:
Correct Marks : 4 Wrong Marks : 1 ~



C Programming language was developed by

1. Marcian "Ted" Hoff
2. Douglas Engelbart

. Danmnis Ritchie

4. Charles Babbage

L]

Options :

68019149165. 1
68019149166. 2
68019149167. 3

68019149168. 4

Question Number : 42 Question Id : 68019112462 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
i I W fbee gR1 faefyd @1 7s i

1. TG ¢S gl

2. BT Uiiaare

3. ofg ft
4. ITcd oo

Options :

68019149165. 1
68019149166. 2
68019149167.3

68019149168. 4

Question Number : 43 Question Id : 68019112463 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



are words that a programming language has set aside for its own use and have a
special meaning.

1. Control words
2. Saved words

3. Important words
4. Reserved words

Options :

68019149169. 1
68019149170. 2
68019149171.3
68019149172. 4

Question Number : 43 Question Id : 68019112463 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3, T 939
1, ofes 959

Options :

68019149169. 1
68019149170. 2
68019149171.3
68019149172. 4

Question Number : 44 Question Id : 68019112464 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

gcollegedunias

~

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-I with List-II

LISTI LISTII
(Terms) (Tvpes)
A |FTP I. |Malware
B. |Hub II. |Network Protocol
C. |QWERTY ITI. |Networking Device
D. |Trojan IV. |Kevboard Layout

Choose the correct answer from the options given below:

1. (A) - I). (B) - (III). (C) - (IV). (D) - (I)
2. (A) - (). (B) - (II). (C) - (IV). (D) - (I)
3.(A) - (). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (IT). (B) - (I). (C) - (III). (D) - (IV)

Options :

68019149173. 1
68019149174. 2
68019149175. 3
68019149176. 4

Question Number : 44 Question Id : 68019112464 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T g1 3R gl

i I
T ok
A [UmETdl I [FeEm
B |9 II. [Sead uleidia
c. |Fgadl I1L. |[Heafdi JusHu
D. [2loH IV. [BarS Tafge
A feu e fosed B 9 981 S I |

1. (A) - I). (B) - (II). (C) - (IV). (D) - (I)
2.(A) - (I). (B) - (II). (C) - (IV). (D) - (I)
3. (A) - (III). (B) - (I). (C) - (IV). (D) - (IT)

4. (A) - (II). (B) - (1). (C) - (II). (D) - (IV)
Options : gcollegedunias

~



68019149173. 1
68019149174. 2
68019149175. 3

68019149176. 4

Question Number : 45 Question Id : 68019112465 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Which one of the following 1s NOT a type of hacker?

1. Black Hat hackers
2. Orange Hat hackers
. Grey Hat hackers

4. White Hat hackers

Options :

s

68019149177.1
68019149178. 2
68019149179. 3

68019149180. 4

Question Number : 45 Question Id : 68019112465 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafefad 5 O & 91 U6 UOR &1 o@ ol 87
&P oc by

.a$ﬁﬁﬂ§§f§?ﬁ?f

U g omd

4. BT B By

Options :

fag 2 —

68019149177. 1

68019149178 2 :
gcollegedumas
68019149179. 3 -



68019149180. 4

Question Number : 46 Question Id : 68019112466 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following 1s NOT a malware?

1. Virus

2. Spyware

3. Worm

4. Cookies
Options :
68019149181. 1
68019149182. 2
68019149183. 3

68019149184. 4

Question Number : 46 Question Id : 68019112466 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
fFrafafad o 9 o 91 HeaaR 181 82

1. Aoy

2. WEamR

3.9

4. PP
Options :
68019149181. 1
68019149182. 2
68019149183. 3

68019149184. 4

gcollegedunias

Question Number : 47 Question Id : 68019112467 Question Type : MLy Gpuon SMUTTINg : INO



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following binary numbers in inereasing order.
A). 0111

B). 1110

C). 1010

D). 0010

Choose the correct answer from the following:

1.(A)<(B)=<(C)=<(D)
2.(A)=D)=<(O)=(B)
.(D)<(A)<(C)<(B)
4. (D) <(B) <(A)=(C)

L]

Options :

68019149185. 1
68019149186. 2
68019149187. 3

68019149188. 4

Question Number : 47 Question Id : 68019112467 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafRad ars-R1 9l & 9¢d ©H H ogaieyd &y
(A) 0111
(B) 1110
(C) 1010
(D) 0010

Fafiad § @ T IR -

1. (A)<(B) <(C)<(D)
2.(A)<(D)<(Q)<(B)
(D)< (A)<(C)<(B)
4.(D)<(B)<(A)<(C)

Taa

Options :
68019149185. 1

68019149186. 2
collegedunia:

68019149187. 3

~



68019149188. 4

Question Number : 48 Question Id : 68019112468 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bandwidth 1s measured in

. Hertz
. Bits

. Kbps
4. Metre

Options :

faa b —

68019149189. 1
68019149190. 2
68019149191. 3

68019149192. 4

Question Number : 48 Question Id : 68019112468 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1.8<H

2. facHm

3. hddiTy

4. HIeR
Options :
68019149189. 1
68019149190. 2
68019149191. 3
68019149192. 4

gcollegedunias

Question Number : 49 Question Id : 68019112469 Question Type : ML Z et crennnnee

g e rw~



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following key 1s used to establish relationship between tables in a relational
database?

1. Primary Key
2. Foreign Key

3. Candidate Key
4. Alternate Key

Options :

68019149193. 1
68019149194. 2
68019149195. 3
68019149196. 4

Question Number : 49 Question Id : 68019112469 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafaRad 3 ¥ fod el (@) o1 S0 U@ RAv-a Seed | difaerad @a) & &
e B YidHied B & fo favar srar g2

1. UIgHR] &l
2. BRA DI
3. Bfgse o
4. 3feR-eT Bl

Options :

68019149193. 1
68019149194. 2
68019149195. 3

68019149196. 4

Question Number : 50 Question Id : 68019112470 Question Type: MC~ —_ **  ~° ™ "
Is Question Mandatory : No Calculator : None Response Time : N.A 1 gcollegeduniag

~

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The particle nature of light can be explained by the

. Doppler Effect

. Photoelectric Eftect

. Young's double slit experiment
4. Piezo Effect

|

s

Options :

68019149197. 1
68019149198. 2
68019149199. 3

68019149200. 4

Question Number : 50 Question Id : 68019112470 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
TBTRI 1 HUT WP I JHAT Sl Tl §

. SITeR UHIG

 USRIfagad gy

1 Dt GIe f31ceil 1 Wi
4. UTSll 9T

Options :

1
2
3

68019149197. 1
68019149198. 2
68019149199. 3
68019149200. 4

Question Number : 51 Question Id : 68019112471 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List-I with List 11

LIST1I LISTIT
A |Intrinsic Semiconductor I |Cds
B. |n-tvpe semiconductor II. |51 doped with B
C. |p-tvpe semiconductor III. | 51 doped with As
D. |Compund inorganic semiconductor| IV, |51

Choose the correct answer from the options given below:

1. (A) - (IV). (B) - (II). (C) - (II). (D) - (I)
2. (A) - (IV). (B) - (IT). (C) - (I). (D) - (II)
3.(A)-(1). (B) - (I). (C) - (IIT). (D) - (IV)
4. (A) - (ITT). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019149201. 1
68019149202. 2
68019149203. 3

68019149204. 4

Question Number : 51 Question Id : 68019112471 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g1 3R GEI-11 BT fHaH B
L1 -1
A 75 srlee® 1 |cds
p [FIPR (- T5) . Si @I B & 1Y Uffyg e
B EEEIRES g
¢ |FIPR (p-type) - Si I As & TIY UfAfEd
- |reETE® T T
D. | 3 v |si
< feu e fosedl § 9 98l S I |

1. (A) - (V). (B) - (III). (C) - (II). (D) - (I)
2.(A) - (IV). (B) - (ITT). (C) - (I). (D) - (II)

3.(A) - (D). (B) - (II). (C) - (1II). (D) - (IV)
4. (A) - (III). (B) - (AV). (C) - (D). (D) - (II) gcollegedunias

Options : b



68019149201. 1
68019149202. 2
68019149203. 3

68019149204. 4

Question Number : 52 Question Id : 68019112472 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Two capacitors Cy and C, are connected in parallel. If charge Q is given to the assembly then the

ratio of charge on C; to charge on C, will be

1,84/
2.0
3.1

4.04/C

Options :

68019149205. 1
68019149206. 2
68019149207. 3

68019149208. 4

Question Number : 52 Question Id : 68019112472 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&1 e ¢ 3R ¢, FHHIR T 4 93 §U T Ale oS Q HaleH &l el ol & a1 ¢ W
3T 3R €, W 1A BT U GHTI

Options : .
gcollegedumas

68019149205. 1 -



68019149206. 2
68019149207. 3

68019149208. 4

Question Number : 53 Question Id : 68019112473 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Out of the following,. select the molecules having zero dipole moment.
(A). CH,

(B). CO,

(C). H,0

(D). NaCl

Choose the eorrect answer from the options given below:

. (A). (B) and (D) only.
.(A) and (C) only.

. (A) and (D) only

. (A) and (B) only:.

|

e Laa

Options :

68019149209. 1
68019149210. 2
68019149211.3

68019149212. 4

Question Number : 53 Question Id : 68019112473 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



FrafaRad @ 9 2= fgya Simyul arel Su[sfi &1 90+ o1 |
(A). CH,
(B). CO,
(C). H,O
(D). NaCl
- feu e 9@ el O 9§ 981 SR I |
1. %ad (A), (B) 3R (D)
2. B4 (A) 3R (0)
3. Bad (A) 3R (D)
4. B (A) 3R (B)
Options :
68019149209. 1
68019149210. 2
68019149211. 3

68019149212. 4

Question Number : 54 Question Id : 68019112474 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the materials which exhibit weak dependence of resistivity with temperature
(A). Copper

(B). Nichrome

(C). Constantan

(D). Manganin

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3.(A). (B). (C) and (D).
4.(B). (C) and (D) only.

Options:

68019149213. 1
68019149214. 2
68019149215.3

68019149216. 4
gcollegedunias

~



Question Number : 54 Question Id : 68019112474 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S el ol UEEH Y Sl AITH b WY WcRIUeal 1 HHEIR (e Haid R €
GG

(B) fspim

(C) Pl

WEUEE

I fgu e fosedl § § F81 IR

1. %ad (A), (B) 3R (D)
2.4t (A), (B) 3R (C)
3. (A). (B). (C) 3R (D)

4. %99 (B), (C) R (D)

Options :

68019149213. 1
68019149214. 2
68019149215. 3

68019149216. 4

Question Number : 55 Question Id : 68019112475 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statgements are related to the limitations of Bohr's model.
(A) It 1s applicable to two electron atoms such as helium.

(B) It 1s applicable to hydrogenic atoms.

(C) It 1s able to account for the intensity variations.

(D) It 1s unable to account for the intensity variations.

Choose the correct answer from the options given below:

1. (A) and (B) only
2. (C) and (B) only
3. (B) and (D) only
4. (A) and (D) only

Options :

68019149217. 1 gcollegedunias

~

68019149218. 2



68019149219. 3

68019149220. 4

Question Number : 55 Question Id : 68019112475 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad § ¥ oF 9 ou= IR Al ot s ¥ Je6fia g2
(A) T8 BIfeTad S 31 gofac 1 dTdd SRATU[3H IR dr 8lar s |
(B) TE BT gIui-d URHTU[SH TR AR Bl 5 |
(C) Tg dtgar & gRad- o for SreR B
(D) T digar & ulad= & fou foeR Tei ol
- f3U T f9e el & O el SR I

1. %ad (A) AR (B)

2. %ad (C) 3R (B)

3.dd (B) 3R (D)
4.%dd (A) 3R (D)

Options :

68019149217. 1
68019149218. 2
68019149219. 3

68019149220. 4

Question Number : 56 Question Id : 68019112476 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The magnetic susceptibility of a paramagnetic material is

. Small and positive
. Small and negative
. Large and negative
4. Large and positive

Options :
68019149221, 1 @collegedumas

~

b =

s



68019149222. 2
68019149223. 3

68019149224. 4

Question Number : 56 Question Id : 68019112476 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U RIS Sl &1 gao g Jdgxiiad &

1. FH 3R GHRIHAD
2. FH AR TPRITHD

3. SOTE] 3R THRIAD
4, SOTET 3R IHRIAD

Options :

68019149221. 1
68019149222. 2
68019149223. 3

68019149224. 4

Question Number : 57 Question Id : 68019112477 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List-I with List 11

LISTI LISTII
{(Physical Quantity) (Units)
A |Electric Flux I. |Tesla

B. |Magnetic Moment| II. |Volt Meter
C. |Magnetic Field III. |Weber
D

- |Magnetic Flux | IV. |Ampere meter?

Choose the correct answer from the options given below:

. (A) = (IV), (B) - (III), (C) - (1), (D) - (I)
(A) - (D). (B) - (IIT). (C) - (I). (D) - (IV)
(A) - (I1), (B) - (1), (C) - (TV). (D) - (IIT)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (IIT)

2 =

L]

Options :

68019149225. 1
68019149226. 2
68019149227.3
68019149228. 4

Question Number : 57 Question Id : 68019112477 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g1 3R GEI-11 1 fHaH B
-1 LI,

(iiferep \mm) EPTEan

A |fGggdvare | L [¢=m

B. [de®ig ddT | I [dice Hiex

c [dewtmeam |1 [asR

D. |g=®ig Uare | IV. |THiiTR Hie?

A= feu e faeedl o 9 get 3w 1

L. (A) - (V). (B) - (III). (C) - (I). (D) - (I)
2. (A) - (II). (B) - (III). (C) - (I). (D) - (IV)
3. (A)-(II).(B) - (I). (C) - (IV). (D) - (III)

4. (A) - (I). (B) - (IV). (C) - (I). (D) - (IIT)
Options : gcollegedunias

~



68019149225. 1
68019149226. 2
68019149227. 3

68019149228. 4

Question Number : 58 Question Id : 68019112478 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The mass defect in a nuclear fusion reaction is 0.1%.What amount of energy 1s liberated in kg
fusion reaction

9% 1019 Joule
9% 1012 Joule
9% 1013 Joule
9% 10%Ioule

Options :

| ]

e aa

68019149229. 1
68019149230. 2
68019149231. 3

68019149232. 4

Question Number : 58 Question Id : 68019112478 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

?ﬂmﬁﬂuﬂqﬁ@wﬁw&{%o.m% 1Kg Squ Widfehar & gad ol &1 A1 oldl
I

. 9x 1010 5[
9x 101 9
9x 1013 5[
9% 1015[d

Options : .
collegedunia:

68019149229. 1 s

L

4



68019149230. 2
68019149231. 3

68019149232. 4

Question Number : 59 Question Id : 68019112479 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lenz's law 1s asociated with

1. Conservation of mass

2. Conservation of energy
. Conservation of current
4. Conservation of motion

L]

Options :

68019149233, 1
68019149234. 2
68019149235, 3

68019149236. 4

Question Number : 59 Question Id : 68019112479 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T T 00 3T T ST g 8

1. GoOH BT II&0T

2. Fol & TX&0T

3. YR BT I3[

4. T T TR
Options :
68019149233. 1

68019149234. 2

68019149235, 3 :
collegedunia:
68019149236. 4 -



Question Number : 60 Question Id : 68019112480 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following electromagnetic waves in the order of increasing wavelength.
A). Gamma rays

B). Radio waves

C). Microwaves

D). Ultraviolet rays

1. (B).(D).(C).(A)

2. (A). (B). (D). (C).
3. (A). (D). (C). (B).
4. (B). (C). (D). (A).

Options :

68019149237. 1
68019149238. 2
68019149239. 3

68019149240. 4

Question Number : 60 Question Id : 68019112480 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafeRad fagga g g o & gedt avv o8 & oH H sgafud $1|
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Options :

68019149237 1
collegedunia:
68019149238. 2

~



68019149239. 3
68019149240. 4

Question Number : 61 Question Id : 68019112481 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which phenomenon of light 1s used in optical fibres

1. Refraction
2. Diffraction
. Reflection
4. Total Internal Reflection

Taa

Options:

68019149241. 1
68019149242. 2
68019149243. 3
68019149244. 4

Question Number : 61 Question Id : 68019112481 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
TRl & b URee1 &1 39gRT UehIiieh dd (3ed Brzar) I faar Srar g

1. 3UaqA

2. faadH

3. TRIGH
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4. DA JHTARD GRIGd (CIed Se-Td RIRIaRM )

Options :

68019149241. 1
68019149242. 2

68019149243. 3
68019149244, 4 gcollegeduniag

~



Question Number : 62 Question Id : 68019112482 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Trypanosoma belongs to which group of Protozoa?

1. Amoeboids
2. Flagellated
3. Ciliated

4. Sporozoans
Options :
68019149245. 1
68019149246. 2
68019149247. 3

68019149248. 4

Question Number : 62 Question Id : 68019112482 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
SIS UFIE Hietsiae & fary I ¥ gefia g»
1. HIETS
2. TRioldic S
3. fHferues
4. TR
Options :
68019149245. 1
68019149246. 2
68019149247.3

68019149248. 4

Question Number : 63 Question Id : 68019112483 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A 1 .
collegedunia:
Minimum Instruction Time : 0 s



Correct Marks : 4 Wrong Marks : 1

Which of the following is a biological hazard?

1. Inorganic dust
2. Anthrax

3. Alcoholism
4. Noise

Options :

68019149249. 1
68019149250. 2
68019149251. 3

68019149252. 4

Question Number : 63 Question Id : 68019112483 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fAaffad 8 O SH-91 Us Sifd® Gavl 82

1. DTS el
2. Ty
3. HeUTH &1 od
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Options :

68019149249. 1
68019149250. 2
68019149251. 3
68019149252. 4

Question Number : 64 Question Id : 68019112484 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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Magnification of concave lens 1s always

b =
I
I
—_

3.>+1
4. <+l

Options :

68019149253. 1
68019149254. 2
68019149255. 3

68019149256. 4

Question Number : 64 Question Id : 68019112484 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019149253, 1
68019149254, 2
68019149255. 3

68019149256. 4

Question Number : 65 Question Id : 68019112485 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The entry level in Kasturba Gandhi Balika Vidyalaya (KGBV) 1s

1.Class I
2

. Class VI gcolle edunia:
3. Class IX S - 8
4. Nursery



Options :

68019149257. 1
68019149258. 2
68019149259. 3
68019149260. 4

Question Number : 65 Question Id : 68019112485 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BERal M arferet fdeed (@oitaidh H Ua% &R 6
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Options :
68019149257. 1
68019149258. 2
68019149259. 3

68019149260. 4

Question Number : 66 Question Id : 68019112486 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s a communicable disease?

1. Hypertension
2. Hepatitis

3. Diabetes

4, Cancer

Options :

68019149261. 1 ,
collegedunia:

68019149262. 2 ~



68019149263. 3

68019149264. 4

Question Number : 66 Question Id : 68019112486 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafafad 3 &3 9T 99Ri I 82

1. 3= daddly

2. gUCEied

3. AYHE

4. P
Options :

68019149261. 1
68019149262. 2
68019149263. 3

68019149264. 4

Question Number : 67 Question Id : 68019112487 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term "hidden hunger" 1s associated with

1. Protein deficiency

2. Micronutrient deficiency
3. Fat insufficiency

4. Lack of energy

Options :
68019149265. 1
68019149266. 2

68019149267. 3

68019149268 4 :
gcollegedumas
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Question Number : 67 Question Id : 68019112487 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. 991 Bl TH
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Options :

68019149265. 1
68019149266. 2
68019149267. 3
68019149268. 4

Question Number : 68 Question Id : 68019112488 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the duties of a front office manager.

(A) Responsible for managing the front office, lobby, transport activities

(B) Organises. supervises and controls all uniformed services

(C) Responsible for providing information and communicates with in-house guests and visitor
(D) Schedules shifts/staff rotations and duties of the staff in shafts

Choose the correct answer from the options given below:

A) and (D) only

1.(A)
2.(A) (B) and (D) only
3. (A).
4.(A)

A).(B).(C)and (D)

A and( ) only
Options :
680191492609. 1

68019149270. 2 gcollegedunias

~



68019149271. 3
68019149272. 4

Question Number : 68 Question Id : 68019112488 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T Mg AR & Hacdl §I TgdH B
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1. %ad (A) HR (D)

2. 399 (A), (B) 3R (D)
3.(A). (B). (C) 3R (D)
4.%ad (A) HR (B)

Options :

68019149269. 1
68019149270. 2
68019149271. 3

68019149272. 4

Question Number : 69 Question Id : 68019112489 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HACCP stands for which among the following?

. Hazard Analysis Critical Control Points

. Highly Analytical Critical Control Process

. Hazardous Activity Check Control Parameters
4. Hazard Anlysis Check Control Process

Options: gcollegedunias

68019149273. 1 N
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68019149274. 2
68019149275. 3

68019149276. 4

Question Number : 69 Question Id : 68019112489 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019149273. 1
68019149274. 2
68019149275. 3

68019149276. 4

Question Number : 70 Question Id : 68019112490 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the steps of media planning process i correct sequence:
(A). Deciding and developing media strategies

(B). Developing a media schedule for plan of action for execution
(C). Identifying group media target

(D). Deciding and defining media objectives

Choose the correct answer from the options given below:

1. (D). (A). (C). (B).
2. (C). (D). (A). (B).
.(B). (A). (D). (C).
.(C). (B). (D). (A).

Options: gcollegedunias

68019149277. 1 b

e s



68019149278. 2
68019149279. 3

68019149280. 4

Question Number : 70 Question Id : 68019112490 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hifgar g uidar & =0l &l Jel bH H gaid S

(A) Hifgar oot &1 Ruior 3R fasr s

(B) BT UG & [T & el U WIS Sl faeiad B
(C) 91g HifSar ded of ugd &A1

(D) Hifsar Iexal &t Fuifva Sar v ufeurfea S

= feu e faeedl o 9 gel 3w |

1. (D). (A). (C). (B).
2.(C). (D). (A). (B).
3. (B). (A). (D). (C).
4. (C). (B). (D). (A).

Options :

68019149277. 1
68019149278. 2
68019149279. 3

68019149280. 4

Question Number : 71 Question Id : 68019112491 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Arrange the organizational chart of a housekeeping department below the level of Executive
Housekeeper.

(A). Housemen

(B). Room attendant

(C). Floor supervisor

(D). Assistant housekeeper

Choose the correct answer from the options given below:

1. (C).(A). (D). (B).

2. (A). (B). (D). (C).

3. (D). (A). (C). (B).

4. (D). (C), (B). (A).
Options :

68019149281. 1
68019149282. 2
68019149283. 3

68019149284. 4

Question Number : 71 Question Id : 68019112491 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U SIS U AU & ITEIHD UGHDH FTe Bl SRPR] STSTHITR P 901l & 14 &
R &1 Ay H
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Options :
68019149281. 1
68019149282. 2

68019149283, 3
68019149284 4 gcollegedumas
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Question Number : 72 Question Id : 68019112492 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the units/terms which are associated with fabric inspection and testing.
(A). Thread count

(B). Parts per million

(C). Gram per square metre

(D). Picks per inch

Choose the correct answer from the options given below:

1. (A). (C) and (D) only.
2. (A). (B) and (D) only.
(A). (B). (C) and (D).
4. (B). (C) and (D) only.

L]

Options:

68019149285. 1
68019149286. 2
68019149287. 3
68019149288. 4

Question Number : 72 Question Id : 68019112492 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DUs P RIS 3R G101 § Gafed SH1S / WUegl &I UgdH & |
GO S ]
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1. %ad (A), (C) 3R (D)
2.%ad (A). (B) 3R (D)
3. (A). (B). (C) 3R (D)
4.%ad (B), (C) 3R (D)

Options : gcollegedunias

68019149285 1 )




68019149286. 2
68019149287. 3

68019149288. 4

Question Number : 73 Question Id : 68019112493 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Processed foods Examples
A |Manufactured foods| I. |Probiotics
B. |Food denvatives II. |Conversion of oil to vanaspati
C. |Functional foods III. |Pickles, jams, marmalades, squashes
D. |[Medical foods IV. |Low sodium salt

Choose the correct answer from the options given below:

A(A) - (). (B) - (IV). (C) - (IIT). (D) - (I)
- (A) - (II). (B) - (I). (C) - (I). (D) - (IV)
(A) - (). (B) - (I1). (C) - (TII). (D) - (IV)
(A) - (). (B) - (I). (C) - (I). (D) - (IV)

| B

L]

Options:

68019149289. 1
68019149290. 2
68019149291. 3

68019149292. 4

Question Number : 73 Question Id : 68019112493 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (II). (B) - (IV). (C) - (III). (D) - (I)
2. (A) - (III). (B) - (I). (C) - (I). (D) - (IV)
3. (A) - (I). (B) - (IT). (C) - (IIT). (D) - (IV)
4. (A) - (III). (B) - (I). (C) - (I), (D) - (IV)

olo|w|e

Options :

68019149289. 1
68019149290. 2
68019149291. 3

68019149292. 4

Question Number : 74 Question Id : 68019112494 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Name the process of problem solving with the purpose of getting a 'zero-defect' product in a
garment industry.

1. Quality Assurance

2. Quality Control

3. Quality Management
4, Quality Specifications

Options :

68019149293, 1
68019149294, 2
68019149295. 3

68019149296. 4

gcollegedunias
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Question Number : 74 Question Id : 68019112494 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
% I H -5 FeTE W - & Je%d | FH GHIYH DI Ufshal o1 71 Jaisul
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Options :

68019149293. 1
68019149294. 2
68019149295. 3

68019149296. 4

Question Number : 75 Question Id : 68019112495 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Red Ribbon Express (RRE) 18 a nationwide campaign for generating awareness on

. Malaria

. Breast cancer
3. AIDS

4. Diabetes

Options :

| I ]

68019149297. 1
68019149298. 2
68019149299. 3

68019149300. 4

Question Number : 75 Question Id : 68019112495 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A 1 .
collegedunia:
Minimum Instruction Time : 0 s



Correct Marks : 4 Wrong Marks : 1

¥ E TaY (3R, IR, 5) & favg § SRl U] 33 & U U

Options :

68019149297. 1
68019149298. 2
68019149299. 3

68019149300. 4
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